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(-0.1bp)
(+2.0bp)
(+2.0bp)
(+3.1bp)
(-0.7bp)

(+5.8bp)

(+0.0bp)
(-3.8bp)
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-0.00%
0.30%
1.28%
8.34%

0.77%
1.65%
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DOW30 18293.70 (+0.90%)

NASDAQ 5295.18 (+1.03%)

S&P500 2163.12 (+1.09%)

NIKKEI225  16807.62 (+1.91%)

SHANGHAI ~ 3025.87 (+0.10%)

FTSE100 6834.77 (+0.06%)

DAX30 1043649 (+0.41%)

CAC40 4409.55 (+0.48%)
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o=z/cty{ 11186 (+0.0036)

L2/l 112.27 (-1.13)

EA 100.30 (+1.38)

=H{/9|0t  6.6738 (+0.0143)

o2 CS/2he  1.30261 (+0.0038)
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3y
5y
10y
20y
30y
Ccb

1.327%
1.386%
1.592%
1.613%
1.630%
1.340%

( 0.0bp
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3y
S5y
10y

-4.7bp
-6.6bp
-18.2bp

*IRS 22|

1Y
2Y
3Y
5Y
7Y
10Y
20Y

1*2Y
2*3Y
2*5Y
3*5Y
5%7Y

1.2900%
1.2800%
1.2800%
1.3200%
1.3450%
1.4100%
1.4075%

-1.00
0.00
4.00
4.00
2.50

(+0.65bp)
(+0.60bp)
(-0.20bp)

( 0.00bp)
(-0.25bp)
(-0.25bp)
( 0.00bp)
(+0.50bp)
(+1.50bp)
(+1.50bp)

(-0.25bp)
( 0.00bp)
( 0.25bp)
(0.25bp)
( 0.50bp)
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9.00 (+1.50bp)

5*10Y

*CRS = 2|

(+1.00bp)
(+1.00bp)
( 0.00bp)
( 0.00bp)
( 0.00bp)
( 0.00bp)

1.1900%
1.0750%
1.0500%
1.0000%
0.9650%

1y
2Y
3Y
5Y
7Y

10Y 0.9600%
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